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T.Y. B.Com. (Semester - VI)

361 : BUSINESS REGULATORY FRAMEWORK - [l

(CBCYS) (2019 Pattern)

Time: 2%2Hours] [Max. Marks: 70
I nstructions to the candidates:

Q.no. 1 and Q.no. 6 are compulsory.

Solve any 3 questions from the remaining questions no. 2, 3, 4 and 5.

1)
2)

Q1) A)

B)

Fill in the blanks (Any five) : [5]

1)

The Negotiable Instruments Act was passed in
(1881, 1872, 1930)

11) The person writing the cheque is called
(Drawer, Drawee, Payee)

1i1) A person who buys goods / services for a compensation is called
a under section 2(7) of the 'Consumer Protection Act'.
(Trader, Consumer, Supplier)

iv) The Act of was enacted to protect Indian geographical
producers in India.
(2000, 1999, 1998)

v) Trade and business practices conducted through the internet are
called
(E-commerce, Service, Sales)

vi) Intellectual property is
(Tangible property, Intangible property, None of these)

Match the following : [5]
‘A" Group 'B' Group

1) Information Technology Acta) 14 July 1967

i1) The copy right Act b) Three parties

ii1)) Electronic signature c) 1957

iv) Bill of Exchange d) 27 October 2009

v)  World Intellectual Property e) 2000
Organization

PT.O.



02) What is Holder and Holder in due course? Explain privileges of Holder in
due course. [15]

03) Explain the importance of e-commerce and explain the legal issues arising

in e-contracts. [15]
04) Explain the three tier consumer disputes redressal system. [15]
05) Explain the concept of copyright and Trademark. [15]
(06) Write short notes (Any three) : [15]

a) Essentials of cheque

b) Electronic signature

c) Salient features of Consumer Protection Act, 2019
d) Organs of "'World Intellectual Property Organisation'

e) Design

e
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T.Y. B.Com.
BUSINESS ECONOMICS
363 : Indian and Global Economic Development - |11
(2019 Pattern) (CBCS) (Semester - VI)

Time: 2%2Hours] [Max. Marks: 70
I nstructions to the candidates:
1) Question No. 1 and Question No. 6 are compulsory.
2) Solve any three questions from the remaining questions No. 2, 3, 4 and 5.
3) Figuresto the right side indicate full marks.

Q1) A) Fill in the blanks (Any five) : [S]
1)  The Human Development Index is release by
a) World Bank b) ILM.F.
¢) U.N.O. d) U.S.A.

i1) F.D.L in India is allowed by two modes, Government route and

a) Automatic route b) Trade route
¢) Export route d) Import route
111) is called the engine of economic development.
a) National Income b) Domestic trade
c¢) International trade d) National trade

1v) India is the founder member of .
a) E.U. b) U.S.A.
c) OPEC d) W.T.O.
v) Government pollicy about export and import is known as _______

a) Foreign trade policy b) Fiscal policy

c¢) Financial policy d) Monetary policy
Vi) countries are involved in SAARC.

a) 10 b) 5

c) 8 d) 7

PT.O.



B) Match the Following.

A

1)  Human Development Index a)

[5]
B

Current and capital account

i) F.D.L b) Group of Eight countries
1i1) Balance of payment c¢) International @ Bank  for
Reconstruction and Development
iv) SAARC d) Mehboob - Ul - Haq
v) Word Bank e) Need of Developing countries
02) Explain the role of Human Resources in economic development. [15]

03) Define the foreign capital and explain the role of foreign capital in economic
development.

[15]

04) Define the foreign trade and explain the role of foreign trade in economic

development. [15]
05) Explain the functions of International monetary fund. [15]
(06) Write short notes (any three) : [15]

a)
b)
c)
d)
e)

Human Development Index
Limitations of foreign capital
BRICS

India's foreign trade since 2001

World Bank

F6d836
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363 : International Economics - ||
(2019 Pattern) (CBCS) (Semester - VI)
Time: 2%2Hourg] [Max. Marks: 70
I nstructions to the candidates:
1) Question No. 1 and Question No. 6 are compulsory.
2) Solve any three qustions from Question No. 2 to Question No. 5.
3) Figures to the right side indicate full marks.
Q1) A) Fill in the blanks (Any Five) : [5]
1) Balance of Payment is always .
a Imbalance b) Bdance
c) Hexible d) None of the above
i)  Theforeign exchange market is a global
a Centrdized b) Decentralized
c) Fixed d) None of the above
i) Migration of skilled labour in International Tradeisa'Brain Drain'
for an undeveloped country, this statment is presented
a Dr.Abdul Kalam b) Sardar Petel
c) Dadabhai Nauroji d) Dr.AmartyaSen
IV) International Bank For Reconstruction and Development is aso
knownas .
a WorldBank
b) IMF
c) World Trade Organization
d) IDBI
v) Full form of OTC is .
a Out Put the Cover b) Over Transfer Currency
c) Ownthe Convert d) Over the Counter
vi) Theworld Trade Organization establishedon
a 1January 1995 b) 12 July 1982
c) 1April 1991 d) 1March1946

PT.O.



B) Match the Pairs. [5]

A Group B Group
1)  Determination of Foreign ad VaribleExchangeRate
Exchange Rate
i)  Flexible Exchange Rate b) WorldBank
i) Easy Currency Conversion c¢) 8" December 1985
Iv) BRICS d) Currency Convertibility
v) SAARC e 15" July 2014

02) Statethe measuresto correct Disequilibrium in Balance of Payment.  [15]

03) Explainthe meritsand demerits of Fixed Exchanged Rate. [15]

04) State the concept of Brain Drain & write the effects of Brain Drain. [15]

05) Explainthe objectives & functions of World Bank. [15]

06) Write Short note (Any Three) : [15]
a Labour Migration.
b) Foreign Exchange Market.
c) SAARC.
d) Convertibility of Rupee.
e) Multinational Corporations.

VVVV
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Time: 2%2Hours] [Max. Marks: 50
Instructions to the candidates :

1) All questions are compulsory.

2) Figuresto the right indicate full marks.

Q1) @ Definethefollowing Terms(Any 5) : [10]
)  Income
i) Person

i) Previousyear
Iv) Exempt Income
V) Assessee
vi) Perquisites
b) Write short notes (Any 2) : [10]
1)  Agriculturencome.
i) Tax Deducted at Scarce.
i)  Advance Tax.

02) Solve Problems (Any 2) : [14]
ad Mr. Ramakant, Lasalgaon providethefollowing salary structure.  [7]
Basic Salary ¥ 30,000 p.m.
Bonus X 24,000 p.a

Education Allowance (2 childrens) ¥ 480 p.m. per children

Hostel Allowances (2 childrens) ¥ 600 p.m. per children

Commission ¥ 60,000 p.a.

TransportAllowance % 4,800 p.m.

TiffinAllowance % 1,200 p.m.

House Rent Allowance T 12,000 p.m. (Rent paid by him T 72,000). He
has been provided with 1800 CC car along with driver for both private
and office purpose. Expenses is borne by employer. He has paid
professional Tax @ 2500 p.a. compute his net taxable salary income for
theA.Y 2023-24 under old Regime.

PT.O.



b) Compute Income from House property of Mr. Ramesh, Chandwad for
theA.Y 2023-2024 from thefollowing particulars under old Regime.[7]

Particulars 3
Interest on loan 40,000
Municipal Tax 6,000
Vacancy period 2 month
Unrealised Rent 10,000
Annual Rent 2,40,000
Standard Rent 2,30,000
Fair Rent 2,50,000
Municipal Vaue 3,00,000
c) FollowingistheProfit & LossA/cfor the Businessof Mr. Sham, Shirpur
for thefinancial year ending on 31.3.2023. [7]
Profit & LossAlc
Particulars X Particulars 3
To Salary 1,25,000 By Gross profit 3,75,000
To Interest on loan 51,250 By Int. on Bank deposit 6,250
To Advertisement 6,250 By Sundry Receipts 18,750
To R.D.D. 6,250 By Gift from mother 50,000
To Fire Insurance 5,000
To Wealth Tax 15,000
To Office Exp. 6,250
To Income Tax provison 6,250
To Depreciation 50,000
To Net profit 1,78,750
~4,50,000 4,50,000

Other Information
)  Bank loan istaken for Business purpose.
ii)  Depreciation allowed as per Income Tax Ruleis T 56,250.

i)  Advertisement include T 2,500 as expenses for selling household
furniture.

Iv) Salary include ¥ 12,500 paid for domestic purpose.

You are required to compute Taxable Income form Business for A.Y
2023-24 under old Regime.

[6032]-605 2



03) Mr. Rajveer, Ajmer has given the following particulars of his incomes and

savingsfor thefinancial year ending on 31.3.2023. [16]
Gross Salary % 7,80,000
Income from House Property % 2,60,000
Income from Business % 3,90,000
Int. on Govt. Securities % 26,000
Int. on Bank Saving A/c ¥ 10,000
Int. on PPF < 13,000
Int. on Debentures % 26,000
He paid professional Tax % 2,500

Mr. Rajveer madethefollowing investment during the year.
LI1C premium ¥ 30,000

Deposit in PPF 78,000

NSC ¥ 52,000

Mediclam % 25,000

Int. on Education Loan. ¥ 60,000

Compute his Taxable Income & Tax Liability in old and New Regime and
givethe suitable option for saving aTax of Mr. Rajveer for the A.Y. 2023-24.

VVVV
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V) QM
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H)
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(o] T 24,000 ufa =d.
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FHARTE WA (2 gemedt) I 600 uid wet. S Jerrenst

Eatinc] ¥ 60,000 ufa =rd.

TTEgeh WA ¥ 4,800 ufa war.

e (fefm) wwn T 1,200 ufa =z,

W R W T 12,000 wfa w@r. (Wrek @i T 72,000 Wi 3Eehe 3R)
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T[N FIIUTTTSIHTOr IRe.
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ot W, wigare g o fuior a¥ 2023-24 wia s freum o=
[ SR JUTTGISTHTOT IR, [7]

quide T
AT S 40,000
TR T 6,000
T wremah 2 \fgA
TG 7 A W (FFraa W) 10,000
EULERIC 2,40,000
T W12 2,30,000
EISEIR 2,50,000
TRUTCH! oaich 3,00,000

ot vamm IR =t snffens o 31.3.2023 |rdit Tt diet Usieh Tt et ST,
[7]

TE qeT T=H

AU TFRT qURTA TR
TR T 1,25,000 @reret T 3,75,000
Tt STt 51,250 skt defterfiet samst 6,250
EUFACECE] 6,250 ferteRies 3ea= 18,750
3 geeeh awqg (RDD) 6,250 siméhg fwmoret mefi@ 50,000
s femm 5,000
Ut T 15,000
HRATANA T 6,250
AR TG 6,250
PRI 50,000
Feae Aw 1,78,750

4,50,000 4,50,000
BRI

) el g SHOEETETES! aee 3T,

i) STEER wEETIEE 7= gEn I 56,250 1.

i) TErE T siaa T 2,500 1 T g WiHeR feRuar gEte 1.
V) o @ T 12,500 3 9t i et .

T faeiean Aifgdea U & e ad 2023-24 |rét =1 ShsuTeitsiaid
ST U fHeuR U et e,
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gy 3) ot UNTER, ISR T STfeieR o 2022-23 Tt 3ca= & ASUfchiel gl Seitet

A feeied e, [16]
I R S Je % 7,80,000
AT RisuR Sea= % 2,60,000
AT [He0R S % 3,90,000
THR JAaUIchTeRIe! ST % 26,000
Sehdic! STod WETER HEUTR ST % 10,000
ufersy fatz Fefada s < 13,000
TSI Tt % 26,000

sft. TeER Tt T 2,500 SHEE™ TR AT hell AR,

AT gH (T, 3. w) % 30,000
Aretfren Wit frate feft 7ed fmaus < 78,000
frem e w Z 52,000
s foren g Z 25,000
Herforer wttaiier s Z 60,000

Tltet feetean ifgediae oft. TSTER el U S 9 T -1 ShsIuTTel ae AfeH
FIIUTATET TR HEA e & . TR AT HIUTRIT T S areradl A5l

A NI HE.
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Human Resource Management & Marketing
(CBCS 2019 Pattern) (Semester - VI)
Time : 2% Hours] [Max. Marks : 50

Instructions to the candidates:

D

All questions are compulsory.

2) Figures to the right indicate full marks.

01) A)

Fill in the blanks with the most appropriate alternative. (Any five):  [5]

)

Vi)

Aggressive selling is a characteristic of
marketing.

a) Production
b) Marketing
c) Selling

provides fast and accurate marketing information.
a) Marketing information system
b) Management information system
c) Maintenance information system

is a function of physical supply.

a) Financing
b) Transportation
c) Risk Bearing
Stock Exchange of Mumbai is an example for
a) Perfect market
b) Regulated market
c) Manufacture market
The most basic level of a product is called the
a) Core Product
b) Central Product
c) Fundamental Product

product exceeds customer expectations.
a) Strategic
b) Superior
c) Augmented

concept of

PTO.



B) Match the following : [5]
Column A Column B
1)  Marketing a) Derived from Latin word
Marcatus
1) Insurance b) Means to reduce risk
) Bread and milk c) Identifies the product or brand
iv) Label d) Convenience products
v) Market e) Artand Science
02) Write a short note (any two) [10]
a) Features of Marketing
b) Steps in Market Segmentation
c) Product Life Cycle
d) Internet Marketing
03) a)  Explain the various functions of Marketing. [8]
b) Explain the factors afecting Pricing. [7]
04) a) Explain factors affecting to the marketing mix. [8]
b) Define the term advertising. Explain the types of advertising Media. [7]

[6032]-606
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T.Y. B.Com.
BANKING AND FINANCE-11

365 B : Financial Markets and Institutions in India - 11

(2019 Pattern) (CBCS) (Semester - VI)

Time : 2%: Hours]| [Max. Marks : 50

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) A) Fillinthe blanks (Attempt any five): [5]

i)

Vi)

is responsible for the fluctuations in the SENSEX.
a) Rain, drought, floods b) Monetary policy

c) Political instability d) All of the above

The term Bullish indicates

a) Positive price action b) Negative price action
c) Neutral price action d) None of these

The first computerized online stock exchange in India is

a) NSE b) BSE

c) MCX d) Commodity

Purchasing and selling securities on the same day is knownas
a) Delivery Trading b) Intraday trading

c) Stock Trading d) None of these

General Insurance Corporation was incorporated in

a) 1938 b) 1957

c) 1972 d) 1975

IRDA stands for
a) Indian Regulatory Development Authority
b) Insurance Regulatory Development Authority

c) Investment in Insurance Regulatory Development Authority
d) None of These

PTO.



B)

[S]
Higher supply of shares than

India’s largest insuranced

To protect the interest of

Match the following:
i)  Nifty a)
demand
i) SENSEX b)
company
) Lower circuits c)
investors
iv) LIC d) 30 Companies
v) SEBI e)

National Stock Exchange

02) Write a short note (any two)

a)
b)
c)
d)

03) a)
b)

04) 2)
b)

Bear and Bull market

Lower and Upper circuit
Mutual fund

Organization of SEBI

Explain National Stock Exchange

State the career opportunities in stock market

Explain the functions of SEBI

Explain the functions of housing finance Companies

VOOV
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[6032]-608
T.Y. B.Com. (Semester - VI)

365(C) : BUSINESS LAW & PRACTICE - I

(CBCYS) (2019 Pattern)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto the right indicate full marks.

Q1) A) Fill in the blank with the most appropriate alternative (any Five) : [S]

1)  The Companies Act, 2013 came into force on the
(29" of June 2013, 29" of July 2013, 29" of August 2013)
i1) The concept of Company Act taken from Companies
Act.
(English, American, Russian)
1i1) In the case of unfair prejudice, a ________ shareholder has a
right to approach the court.
(Minority, Majority, Preference)
1v) and Arrangements can take place between a company
and its creditors or members and / any class of them.
(Competition, Compromise, Condition)
v) The Cadbury Committee was established in May
(1990, 1991, 1992)
vi) Corporate governance is not a law it’s a
(Mechanism, Scheme, Policy)
B) Match the following : [5]
Column A Column B
1)  The Companies Act, 1956 | a) Removal of Managing Director
i1) Powers of Tribunal b) Corporate Governance
1) Merger ¢) Section 149
iv) Conducting the business d) 1* April 1956
with all integrity & fairness
v) independent Director e) Combination of two or more
companies into a single
company

PT.O.




Q2) Write a short note (Any two) : [10]

a)
b)
C)
d)

03) a)
b)

04) a)
b)

Features of Company
Prevention of Mismanagement
Conditions for sanction of Compromise

Principles of Morality

Explain the provisions related to social responsibilities of company?[8]

What is Minority Interest? What are the provisions & rights for
protection of minority interest? [7]

What are the rights and duties of inspector? [8]

Explain the Cadbury Committee Report on Corporate Governance.[7]

lClodoe
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[6032]-608
T.Y. B.Com. (Semester - VI)

365(C) : BUSINESS LAW & PRACTICE - I

(CBCYS) (2019 Pattern)

(TS TATR)
ae : 2> @ | [ Tegor 7707 : 50
L LU
1) @d gy sifAart smea.
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1)
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HIVTATE S AT 1S VIehd.
(Taet, deE, 312)
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(1990, 1991, 1992)
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) AR SIS . [5]
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P-1827

[Total No. of Pages : 4

[6032]-609
T.Y. B.Com.

365D : CO-OPERATION AND RURAL DEVELOPMENT - II
(2019 Pattern) (CBCYS) (Semester - VI) (Paper - 11)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

All gquestions are compulsory.

Figures to the right indicate full marks.

1)
2)

Q1) A)

1)

Fill in the blanks (Any five) : [5]
I The focus of export marketing is on the

a) manufacturer b) nation

c) customer d) price

ii)

iii)

1v)

________ plays an important role in the development of co-
operative marketing in India.

a) National Apex federeration

b) NAFED

c) SFC

d) All of these

The Area of NAFED is .

a) Whole Nation b) Whole state
¢) Whole District d) Village level
Market fees paid by

a) Market committee

b) Seller

c¢) Authorised market produce buyer

d) Authorised person

M.A.P.M.C. means

a) Maharashtra Agent produce market committee

b) Maharashtra Agriculture produce market committee
¢) Maharashtra Pradesh Adat market committee
d) Maharashtra Agricultural produce management council

PT.O.



vi) APMC model Act came into force in year.

a) 1903 b) 1803
c) 2003 d) 1904
B) Match the following pairs. [S]
'AV lBl

1)  Co-operative marketing strategy a) NAFED

i1) Co-op marketing b) Model Act - 2003

1i1)) Apex marketing federation c) APMC

iv) Market committee at Tehsil d) Co-operative export
marketing

v) Provision for APMC control e) Development of co-

operative market

(Q2) Write short notes (any two) : [10]
a) Factors influencing marketing strategy of co-operative
b) Functions of NAFCD
c) Challenger to APMC
d) Basic features of APMC model Act 2003.

03) a) Define marketing strategy. State its importance. [8]

b) State the performance of NAFED. [7]

Q4) a) Stat the progress of APMC. [8]

b) State the objectives of model Act 2003. [7]
363836
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T.Y. B.Com.
365D : CO-OPERATION AND RURAL DEVELOPMENT - I1
(2019 Pattern) (CBCYS) (Semester - VI) (Paper - 11)
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i) faia foommes ... ITeR W fEem A,
¥) IEw ) T
®) UEH g) fpma
i) wWRAmE g femurT e <ft ftrert waeaqul 3R
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[
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vi) TULURE. SYHE B .o AT AT AT,

31) 1903 ) 1803
&) 2003 g8) 1904
q) W SISl Sjesal. [5]
- -
i) gl fum g H) e
ii) wEwN U )  snyfe wEE 2003
iii) warea fouum = ®)  FHt IUF FTARACEA
iv) gt TEdel sreREti ) wgwit Faia e
V) udiumE. s s 3) AEEH SR e
v 2) odigwm few forg (Fiureatdt 3m) ¢ [10]
) WEHR fouur SggeE aer uRumm FRUR gew
) AHRE o wE
F)  FH U AR S T AT
T) UULUA.EH. N wEer 2003 sow At
yy7 3) ) fouum =g Sne m ase @ HEed 9. [8]
F) AThg <t S AEm. [7]
T 4) 1) T Scad SR A S | [8]
q)  anygfe wEer 2003 = Sedrs | [7]
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[6032]-610
T.Y. B.Com.
365-e : COST AND WORKS ACCOUNTING - 11
(2019 Pattern) (Semester - VI)

Time: 2%2Hours] [Max. Marks: 50
Q1) A) Fill in the blanks (Any 5 out of 6) : [S]
1)  Under job costing each job is separately
a) 1dentifiable b) unknown
c) logical d) variable

i1) In contract costing the total loss if any is transferred to
a) Trading Account b) Balance sheet

c) Costing profit and loss d) Drawings

1i1) Retention money serves as a with the contractee
a) tool b) security
C) purpose d) clause

1v) An escalation clause usually refers to change in prices of

a) inputs b) material
c¢) labour d) taxes
v) In process industries there is a flow of ____ from one

operation to the next operation

a) logic b) purpose
c) continuity d) materials
vi) A contains all relevant information regarding

production and other details of the job
a) list b) sheet

¢) production order d) card

PT.O.



B) Match the following :
1)  Service Costing
11) Running charges
1i1) Costs at processes

iv) Contact costing
v) Abnormal loss

Q2) Short Notes (Any Two out of Four) :
a) Contact Costing
b) Service Costing
c) Job Costing
d) Need for Process Costing

[S]
Terminal costing
Operating costing
Over and above the normal
loss
Easily controllable
Variable operating expenses

[10]

Q3) The following details of Contract A are available as on 31/03/2021. [15]

Particulars

Rs.

Contract Price

6,00,000

Materials issued to contract

1,60,000

Materials returned to stores

4,000

Material on site on 31/03/2021

22,000

Materials transferred to contract B

9,000

Direct Labour

1,40,000

Chargeable expense outstanding

6,000

Wages payable

2,000

Direct expense

60,000

Hire of special machinery

10,000

Administration overheads

25,000

Plant installed at site at cost

75,000

Cost of contract not yet certified

23,000

Plant installation charges

5,000

Value of work certified

4,20,000

Value of plant on 31/03/2021

65,000

Cash received from contractee

3,78,000

You are required to prepare Contact A A/c for the year ended 31/03/2021.

[6032]-610 2



04) A product passes through three processes A, B & C. During a monthly
period 1000 units are produced with which the following information is

available :

Particulars A B C
Direct material 2,000 1,000 1,000
Direct labour 1,500 700 800
Direct expense 300 100 100

[15]

Indirect expenses amounted to Rs.4500 and they are to be apportioned to
the process on the basis of Direct Material. Prepare process account showing

the total cost per unit at each process.

OR

From the following data calculate the cost per running mile of Road Lines

Transport Co.

Particulars

Mileage run (annual)

15,000 miles

Cost of vehicle Rs. 2,50,000
Road License (annual) Rs. 7,500
Annual Insurance Rs. 7,000
Annual Garage Rent Rs. 7,250
Supervision and Salaries (annual) Rs. 24,000
Drivers wages per hour Rs. 30
Cost of fuel per liter Rs. 20
Miles run per liter 20 miles
Repairs and Maintenance per mile Rs. 1.65
Tyre Allocation Per mile Rs. 0.80

Estimated life of vehicle

1,00,000 miles

Charge interest at 15% on the cost of vehicle. The vehicle runs 20 miles per

hour on an average.

000
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[6032]-611
T.Y. B.Com.
STATISTICS
365 (F) : Business Statistics - ||
(2019 Pattern) (Semester - VI)
Time: 2%2Hoursg] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Attempt thefollowing :
A) Choose the correct alternative of the following: (any five)[5 x 1 =15]
) IfZ~N(,1),thenP(Z<0)=P(Z>0)="?

a) 1 b) 0
c) 05 d) 0.75
i)  The hypothesis of the no difference is called as
a)  Null Hypothesis b) Alternative Hypothesis
c) Two-sided d) One sided
i) Let X — N(8, 25) then variance of X is
a) 8 b) 25
c) 0 d) 1

iv) We want to test HO : Two attributes A and B are independent and
both the attributes are at three levels. Then under H, the statistic

used 1s
a) 3 b) i
) i d) ¥}

v)  Paired t-test was applied to 13 observations {(X,Y,);i=1,2,3,...,13}.
In this case the distribution of test statistic under null hypothesis

H,: p, = 0 is t-distribution with degrees of freedom.
a) 13 b) 12
c) 26 d) 24

P.T.O.



B)

vi) Stratified sample is withinand  Between the strata.
a) Homogeneous, Heterogeneous
b) Homogeneous, Independent
c) Heterogeneous, Homogeneous
d) Heterogeneous, Independent

vi)) Analysis of variance is a statistical method of comparing the
of several populations.

a) Standard deviations b) Variances

c) Means d) Proportions
Sate whether the following statements are True or False. [each one]
1)  Level of significance cannot be made zero.

i) In simple random sampling without replacement, drawn unit after
recording is replaced in population before next draw.

i) Normal Distribution is positively skewed distribution.

iv) ANOVA is the preferred method for finding differences among
several population proportions.

v)  Statistic is constant and parameter is random variable.

Q2) Write short note (any two) : [5 each]
a) Simple Random Sampling Without Replacement (SRSWOR).
b) Stratified Sampling with one real life situation.
c) Analysis of Variance (ANOVA).
d) Give the test procedure of Z-test for testing the significance of equality
of two population mean.
Q3)a) 1) IfX~N(0,1)then find: [4]
) PX>1.3) 1) P(O<X<1.3)
1) P(X<1.3) IV) Mean and Variance
i) A random sample of 90 adults is classified according to gender and
the number of hours they watch television during a week : [4]
Hours spent in Gender
watching TV Male Female
Over 15 hours 15 29
Below 15 hours 27 19

Examine whether the time spent watching television is independent
of whether the viewer is male or female. Use 5% level of significance.

[6032]-611 2
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Q4) a) )
if)

b) i)

if)

[6032]-611

Four types of fertilizers were applied to seven types of seeds and
the ANOVA table constructed is given below, fill in the blanks of

the following tables marked "—". [4]
Sources of Degrees of Sum of Mean Sum Variance
variation  freedom squares of squares Ratio
Between 3 26.4 8.8 -
Fertilizers

Between - 30 5 -

seeds

Error 18 77.9 -

Total 27 134.3

Test whether production across fertilizers equal or not? Use 5%
level of significance.

A standardized placement test in mathematics was given to 11 boys
and 9 girls. The boys made score with sample mean square
S 2 = 129.8, while the girls made score with sample mean square
S,>=91.75. Use F- test to test whether the populations from which
the two samples are drawn have same variances or not at 10 % level
of significance. [Given : F . .= 3.36]. [3]
A quality control manager of an electronic plant thinks that
handicapped people do same work as that of normal people. A
sample of 400 items produced by the handicapped found to have
20 defectives. On the other hand, a sample of 500 items produced
by the normal people contained 32 defectives’ the data support the
managers claim? Justify the answer, Use 5% level of significance.[4]
The hours of sleep for 10 patients before and after giving a new
drug are recorded. Test whether there is a significant difference in
the average hours of sleep at 5 % level of significance. [4]

Hours of
sleep(before) [ 6 | S| 7 |7 |89 |19]|16 |6 |8

Hours of
sleep (after) 7 1651 8 (859 195|957 |65]9

In a population of size 5 the values are 4, 3, 5, 7, 10. Draw all
possible sample of size 2 using SRSWOR. Verify that sample mean

is an unbiased estimator of population mean. [4]
Define Standard Normal distribution, also state any two properties
of normal distribution. [3]
VVVV
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[6032]-612
T.Y. B.Com. (Semester - VI)

365G : BUSINESS ENTREPRENEURSHIP - 11

(2019 Pattern) (Special Paper - 1)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

All questions are compulsory.

Figures to the right side indicate full marks.

1)
2)

01) A)

Fill in the blanks (Any 3) : [S]

1)

ii)

iii)

1v)

is the least important part of the business plan.
a) Planning control
b) HRM control
¢) Implementation control
A is a written document.
a) Production Plan
b) Business Plan
¢) Marketing Plan
ERM stands for
a) Enterprise Revenue Management
b) Enterprise Risk Management

c¢) Environment Risk Management

Rs. Crores, the Government of India has set aside
a corpus fund for startup.

a) 10,000

b) 15,000

c) 20,000

A Start-up India may apply for tax exemption under section
IAC of the Income Tax Act.

a) 90
b) 80
¢ 70

PT.O.



vi) The profit of recognized start-ups are exempted from Income Tax

Act for years.
a) Two
b) Three
c) Five
B) Match the Following. [5]
Group 'A’ Group 'B'
1)  Business Plan a) 2006
11) MSME Act b) Vijay Sharma
1) Start up c) Financial Aspect
iv) Vedantu d) 2015
v) Paytm e) Anand Prakash
Q2) Write Short notes (Any 2) : [10]
a) Importance of business plan.
b) Growth phase management
c) Types of business crises.
d) Examples of start-up.
03) a) What is Business Plan? Explain the objectives of business plan. [8]
b) Explain the challenges in implementation of ERM. [7]
Q4) a) What is business sickness? Explain the various causes of business
sickness. [8]
b) Explain the Do’s and Don’ts for startup. [7]

e
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T.Y. B.Com. (Semester - VI)
365G : BUSINESS ENTREPRENEURSHIP - 11
(2019 Pattern) (Special Paper - 1)
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[6032]-613
T.Y. B.Com.
365 (h) : MARKETING MANAGEMENT (Paper - 1)
(2019 Pattern) (CBCS) (Semester - VI)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto the right indicate full marks.

Q1) Fill in the blank with most appropriate word in the bracket (any 5) :  [5]
a) The Supply of Agricultural Product is
(Uncertain, Regular, Certain)

b) act gives the right to the police to arrest in case of
infringement of the trademark.

(Trademark, Competition, BIS)
c) is given the importance in the global market.
(Generalization, Specialization, Taxation)

d) The smooth functioning of buying and selling through internet requires
marketing.

(Internet, Cyber Security, Document)

e) Patent is one of the

(Prestige, Property, Intellectual Property)

f) is the process of dividing the product into lot which are of
similar characteristics in shape, size, type, weight, quality and
performance.

(Storage, Transportation, Grading)

PT.O.



02) Match a Group : [3]

a) Agricultural Marketing 1)  Dominance of Multinationals
b) Global Market i1) Prevents Adware
c) Patent 111)) Use of Primitive techniques of
production
d) Cyber Security 1iv) Right granted for invention
e) Bureau of Indian Standard Act v) Standardization
Q3) Write Short Notes on (Any Two) : [10]
a) Agricultural Marketing
b) Trademark Act 1999
c) Global Marketing strategy issues
d) Advantages of Cyber Security Marketing
04) a) Explain the various Functions in the agricultural marketing system.
[8]
b) Explain the Indian Patent (Amendment) Act 2005. [7]
05) a) Explain difference between Global Marketing and International
Marketing. [8]
b) What are the essentials to develop Cyber security marketing strategies.

[7]

m|mim
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[6032]-614

T.Y. B.Com.

365 (1) : AGRICULTURAL AND INDUSTRIAL

ECONOMICS - |1

(2019 Pattern) (CBCYS) (Paper - I1) (Semester - VI)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

All questions are compulsory.

Figures to the right indicate full marks.

1)
2)

Q1) A)

Fill in the blanks (Attempt any S out of 6) : [5]

)

Vi)

Which of the following is not the characteristics of agricultural
labour?

a Unorganized b) Economicaly exploited
c) Highstandardofliving d) Low education

What are the problems of agricultural labour in India?

a Seasona employment b) Indebtedness

c) Low socia status d) All of theabove

The conflict and disputes between employers and employees on
any industrial matters are known as :

a Political relations b) Humanrelations
Cc) Socid relations d) Industria relations
Absence of strikes and lock-outs in an indicator of

a) Peaceful Industrial Relations

b) Disturbed Industrial Relations

c) UnwantedIndustrial Relations

d) Partia Industrial Relations

The industrial disputes act in India was passed in

a 1926 b) 1946
c) 1947 d) 1948
ThemakeinIndialnitiativewaslaunched by primeMinisterin .
a 2017 b) 2020
c) 2014 d) 2012

PT.O.



B) Match the following : [5]

) FPO a 2019
i)  Farmbill b) FarmersOrganization
i)  Maharashtralndustrial Policy c¢)  Agricultura Labour
Iv) Low Education d) 2020
v) Industrial disputes e) Conflict between employer &
L abour
(02) Write a short note (Any 2 out of 4) : [10]
ad Causesof Industrial disputes.
b) Impact of climatean agriculture.
c) Water management initiatives.
d) Typesof agricultural labour.
03) @ Describethe problemsof agricultural labour. [8]
b) Explainindetail theimpact of Covid-19 pandamic on agricultural sector
of India [7]
04) @ Explaintheremediesto resolvetheindustrial disputesin India. [8]
b) Definelndustria relations. Explain the historical background of Industria
relations. [7]
VVVV
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365 (1) : AGRICULTURAL AND INDUSTRIAL
ECONOMICS - ||
(2019 Pattern) (CBCYS) (Paper - I1) (Semester - VI)
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%) HwI Has 3) it way
V) OU T TaEEt AHE F .o =11 fdyTes o

HA) Waaeg SR dae d) A9 NS fies gay
F) orUflE oicifs ey ) oiv: Shiceifs dey

V) ORameR it gud wEe ... ... 1 TN GHE AT
) 1926 o) 1946
%) 1947 g) 1948

Vi) ORGSR B 5 SR A e et S e,
A) 2017 q) 2020
®) 2014 g) 2012

3 P.T.O.



) ARG S AL
) FPO
i) e fagEs
iii)  wERTy Sienfien dwot
V)  areafvteron
V)  Sfieenies wed

yo7 2)  fem form. (o €M)
) iR HEET HROY
F)  FEWHRE ek TRoTH
®) ST SHTEATUA YeTehR

T) VameEE YER

gyq 3) )  awSuen qHE v .

)

%)

3)

[5]
2019
MET RS

2020
HTeTeh & IR el 9o

[10]

[8]

F) ARATE FHEETEE Hifae - 19 Aemiie Uit wferadot we w0, [7]
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Total No. of Questions : 4] SEAT No. :

P-1833 [Total No. of Pages : 4
[6032]-615
T.Y. B.Com (Semester - VI)
365(J) : DEFENCE BUDGETING, FINANCE &
MANAGEMENT - Il
(2019 Pattern)

Time: 2%2Hours] [Max. Marks: 70
I nstructions to the candidates:
1) All questions are compulsory.
2) Figuresto the right indicate full marks.
Q1) Attempt any five of the following : [S x 2 =10]
a) Define defence management.
b) Write the full form of HSTDV.
c¢) What is logistic management?
d) What is decision making?

e) Define ‘Strategic’ Drones.

f)  Define non military organisation

02) Attempt any four of the following : [4 x § = 20]
a) Logistic management
b) India’s hypersonic projects
c) Ministry of defence
d) Military organisation

e) ToT (Transfer of Technology)

PT.O.



03) Attempt any four of the following : [4 x § =20]
a) Explain about Electric Propulsion Technology.
b) State principles of non military organisation.
c) State principles of military organisation.
d) Explain types of military organisation.

e) State the Organisational aspects of decision making.

04) Attempt any two of the following : [2 x 10 = 20]
a) Explain in detail decision making in Indian armed forces
b) Explain in detail problems of prospectus of arms production in India.

c¢) Explain in detail Major Defence Collaboration in Work to Manufacture
Sophisticated, Modern Equipment in India.

[6032]-615 2



Total No. of Questions : 4]

P-1833 [6032]-615
T.Y. B.Com (Semester - VI)
365(J) : DEFENCE BUDGETING, FINANCE &
MANAGEMENT - 11
(2019 Pattern)
(TS T UTR)
ae : 2> @ | [ Tegor 7707 : 70
A :
1) wdggafar
2) IR o o AT,

997 1) WIciicii<hl HhIvTdE urel 99 diea. [5 x 2 =10]
3) TRV HERATIA AR .
) HSTDV = yui w&u fergt.
F) YA HERUTIA FUTS i ?
g) o ufskan o= wE?
3) =i g e w.

%) foR oT=R gEeT savE .

g 2) four foren. (Fomd =wm) [4 x 5 = 20]
) YEST SR
F) HRA FEURHES Thed
®)  EREIUT WA
g) oTshRd gged

g) ToT (s Fiawun)
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97 3)  WIciicidehl ShivTdgl 9r 99 diea. [4 x 5 =20]
) olfaeeh TUeYH qaeH I8 .
F) forr TRl Tl geta |nm.
®) TSR TEeA Yeraw |
g) TR HUeY TR T H.
3) fuim ulshadicl GaedTees e |,

9 4) WIelicTi<hl HhIvdE 349 99 Tgan. [2 x 10 = 20]
) URAE SAEATA ot gfshen aforar T &,
F)  URAE BAGATATSIET TRETUT ICATEATA THE AfCRaR T8 .

F) WRATHA FANYfFE, NYFE U TIR FUATE HHEE T TR0
TghI qUIaR Ui .
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Total No. of Questions : 4] SEAT No. :

P-1834

[Total No. of Pages : 4

[6032]-616
T.Y. B.Com. (Semester - VI)

365K : INSURANCE TRANSPORT & TOURISM - [

(Tourism)
(2019 Pattern) (Special Paper - 1)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

All questions are compulsory.

Figures to the right indicate full marks.

1)
2)

Q1) A)

Fill in the Blanks (Attempt any 5 out of 7) : [S]

1)

ii)

iii)

1v)

A tourist who travels within the boundaries of his own country is
called a tourist.

a) Inbound

b) Outbound

¢) Domestic

Validator Plate is issued to -

a) Airlines

b) BSP

c¢) Travel agents

IATO stands for :

a) International Association of Tour Operator

b) Indian Association of Tour Operator

¢) Indian Association of Tourism Organisation
Travel propensity is a measure of

a) The percentage of a population engaging in tourism
b) The ratio of day trip to overnight visits.

c) Frequency of travel of a population

A person travelling abroad should compulsorily need a
a) Ticket

b) Insurance

c¢) Visa

PT.O.



Vi)

vii)

Prospecting is one of the
a) Sales technique

b) Buying technique

¢) Analysing technique
The importance of International Tourism is
a) Incidence of crime

b) Revenue to the Government

c¢) Gambling

B) Match the Following.

i)

ii)
iii)
1v)

V)

UNWTO a) Mumbai
TAAI b) New Delhi
IATO c¢) Geneva
ITDC d) Madrid
ICAO e) Montereal
f)  New Delhi

02) Write Short notes (Any 2 Out of 4) :

a)
b)
9)
d)

03) a)
b)

04) a)
b)

Factors influencing Tourist Transport Selection

Types Tour Operator

Tourist Accommodation

Functions of IATO

Describe types of transport.

State the importance of Tour Operator.

State the Role of Accommodation sector in Tourism.

State the functions of UNWTO.

[6032]-616

lClodos

skills required in tourism.

[S]

[10]

[8]
[7]

[8]
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Total No. of Questions : 4]

P-1834

[6032]-616
T.Y. B.Com. (Semester - VI)

365K : INSURANCE TRANSPORT & TOURISM - I

ae : 2> @ |

1)
2)
3)

(Tourism)
(2019 Pattern) (Special Paper - 1)

(ST EUTR)

T ge7 Tigtaot e Jig.
IR 3k T4TE Ui 7T Gt
Teviardt Zu<it Tgat=ierT Ugra.

[ Twr 701 : 50

7 1)

e s W, (7GR R 5)
i) N geeh MU AWM geld T il el ...

®) ATl HEAE
iii) smETAsH (IATO) 3 @ &y ...........
) SAEE @ ATAH HEeAl
F) WRAE AT g
&) URAE U Tl
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%) fem
vi) ‘wifee g udeArErE! v e .......... YA Tk 312,
) el
9) WE A
%) fovewuna
vil) SRS Wi 0Ee ... ... IR,

) S o [5]
i) UNWTO A) HEE
ii) TAAI q) el faeeht
iii) IATO %) R
iv) ITDC T) wiRE
v) ICAO 3) AAREA
®) e e

gv 2) fem forgn (4 Oh o 2) - [10]
) UUeH AEqh HASER UNUTH HUR Teh
) W AW THR
®) Wewk Fam
g) IATO =i =r&

gy 3) ) TEehIeAl YRR FUT . [8]
)  Q ATNeH HETT T, [7]

gyt 4) ) Ued™ FHaw e it TWE % [8]
&) UNWTO =it @ @mm. [7]
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Total No. of Questions : 4] SEAT No. :

P-1835

[Total No. of Pages : 2

[6032]-617
T.Y. B.Com. (Semester - VI)

365L : COMPUTER PROGRAMMING AND

APPLICATIONS - 11

Computer Networking and E-Commerce - ||

(2019 Pattern) (Special Paper - 1)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

All questions are compulsory.

Figures to the right indicate full marks.

1)
2)

01) A)

Fill in the blanks : [5]

1)

ii)

iii)

1v)

is a set of tools and practices that you can use to protect
your digital and analog information

a) Information security =~ b) Protection rules
c) Protocols d) Breach

1s the activity of electronically buying or selling of
products on online services or over the Internet.

a) E-Shopping b) E-Commerce
¢) E-Banking d) E-learning
Trading in the financial markets through the internet is known as

a) electronic trading b) manual trading
c) on the job trading d) off the job trading

The process of selling and buying products over the _
platform is known as online shopping.

a) Local b) market

c) internet d) national

is advertising that uses the Internet and other forms
of digital media to help a business promote and sell goods and
services.

a) Press advertising b) Media advertising
c¢) Mass advertising d) Electronic advertising

PT.O.



B) Match the following.

1)  Digital Cash network security device
i1) TCP/IP Google

i) Virus E Currency

iv) Firewall communications protocol
v) Search engine malicious software

Q2) Short notes (Any 2 out of 4) :

a)
b)
C)
d)

03) a)
b)

04) a)
b)

Information security threats
Network infrastructure
Mobile Commerce

Role of Digital Marketing

Explain insecure network connections and password cracking.

What is E-Commerce and Explain Application of 5 Ps.

What are search engines? Why are they useful.

What is E-Learning? Explain its pros and cons.

F6d836
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Total No. of Questions: 4] SEAT No. :

P-1836

[Total No. of Pages: 4
[6032]-618
T.Y. B.Com.
BUSINESS ADMINISTRATION - I11

366(a) : Production and Operation Management - |11
(2019 Pattern) (Special Paper-111) (Semester - V1)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

All questions are compulsory.

Figures to the right indicate full marks.

1)
2)

Ql) A)

Multiple choice questions (answer any 5) : [9]

)

ii)

ABC analysisis used in
a CMP b) PERT
c) Inventory control

Is the backbone of production planning and control.
a Materid Requisition planning
b) Economic order quantity
c) VauechanAnayss

Is a set of management tools and techniques designed
to improve production process.

a Sixsigma b) Quality management
c) ABCandyss

isaterm used in logistic and warehouse.
a ABCanadyss b) Cross Docking
c) Vaue chain process

Which of thefollowing modelsisused to calculate thetiming of the
inventory order?

a Economic order quantity model
b) Reorder point model
c) Fixedorder inventory model

PT.O.



vi) Most important element for production process is

a Finance b) Raw materia
c) Machinery
vi) _ isanactivity by which goods and services are produced
a Production b) Purchase
c) Marketing
B) Match thefollowing (any 5) : [9]
Group A Group B
)  T.Q.M. a Deélivery of Goods
i) Quality management b) Total quality management
i)  Supply chainmanagement  c¢) Quality control
Iv)  Inventory management d) Maximizeprofit
v) Plantlayout e) Controlling cost
vi) EOQ f)  Manufacturing process
vii) Production planning g) Economic order quantity
Q2) Write short notes (any two) : [10]
ad Modes of transport.
b) Economic order quantity.
c) Advantagesof plant layout.
d) Objectives of production control.
Q3) @ Explainthevarioustechniquesused in plant layout. [8]
b) Explainindetail functionsof production management. [7]
Q4) @ Discussthe use of computersin inventory management. [8]
b) Explainthe various stages of supply chain management. [7]
Q00O
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Total No. of Questions: 4]

P-1836
[6032]-618
T.Y. B.Com.
BUSINESS ADMINISTRATION - 111
366(a) : Production and Operation Management - |11
(2019 Pattern) (Special Paper-111) (Semester - V1)
(TSt TUTaR)
az: 2% arq | [ @egor 707 : 50
gear: 1) @ gvd el siAar g
2)  Ireltengicr ieh gyTe YUt 0T F9tterr.
3) w@EWIaISt a5 SUSI Gyuleht UgTaf.

7 1) ) g G, (U ) [5]
) stawfwvEwor.............. TSt ATRA 1.
HA) wH.dum, g) WI.maA
&%) @l e
1) I 21 3t s anfon fesomn o R
) A WS FEem d) WA 3iefeR MU
®) Tod O Hamu
11) JSSTn 7 STUTEA TTShAT GURUITATS! ST TSI & SRUT=N Ueh
< IR,
) Toem Em F)  TUTEN TR
®) A & & AN
1Y) R T O AT d ™ TrETdt aTaiett S,
) A Fvemm )  Shid SR
®) g o Uik
V) HIGETeT UMl S@wlt 0T HRUSTETst Weiciehl hivld Higel dToie
ST ?
) TeRITHER TS FATfeet Hige
) ferid uige uiga

&) Trem 31t sl A

3 P.T.O.



Vi)  ScareR Fftdierdt Ammom aEeren e wu ... .

H) fm q) = HA
&)  gEmtt
V1) R B T foran TR, SATgR % & HaT IAIEH shel A,
) e q) W&
%) fouom
q) SIS e (R ar) [5]
e e T
) HFum 3) g ferm
i) TuTE A q) A FAIAS! HASHE
i) Torawor AnEEt saEAA *)  Turern
V) WIS ST ) SR A
V) g 3) e
vi) 3.3, W)  IcTeA skt
Vi) Searea e M) TN AT FIfeel
g7 2) fem form. (hvrerd 9m) [10]
) ATEIRI HITAH.
9) HETU 3iefeR TTfuTd.
&) TGOS W
T)  Iared fEsoT s
g7 3) ) gl fafay 9 e w. [8]
)  SEIEH HTEATIATE e T FA. [7]

97 4) ) HICTHIS] SHERATIATT TRV SUZNT HET gial o AR T . [8]
F)  foraor aredR T il e w0 [7]
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Total No. of Questions: 4] SEAT No. :

P-1837 [Total No. of Pages: 4
[6032]-619
T.Y. B.Com.
BANKING AND FINANCE - |11
366(b) : Banking Law and Practicesin India
(2019 Pattern) (Semester - VI)
Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:
1) All questions are compulsory.
2) Figuresto the right indicate full marks.
Q1) A) Fill in the blanks (any 5) : [9]
1)  Therecelving of unsolicited bulk email is known as
a Virus b) Spoofing
Cc) Spam d) Worms
1)) can file a criminal case against the drawer of a
dishonoured cheque.
a Thepayee b) The holder in due course
c) Both of the above d) Thepaying banker
i) A collecting banker isgiven protection only with the collects
a A crossed cheque b) An order cheque
Cc) Anbearer cheque d) Anmultilated cheque
IV)  The number has a statutory obligation to
a Honour customs cheque
b) Exerciselien
c) Maintain secrecy of his customers account
d) Honour customersbill
v) Secured loan is one in which you get loan against an
YyOU POSSESS.
a Liability b) Debt
Cc) Asset d) Income
Vi) Is defined as a crime in which computer isthe medium
of crime.
a Computer crime b) cyber crime
c) Internetcrime d) Digita crime

PT.O.



B) Match the following :

)  Cybercirme a
i)  Informationtechnology act  b)
i)  Collecting Bank C)
Iv) Types of Bank customer d)
v) Nonlega measures )

Q2) Writea short note (any 2) :
a Reasonsof cyber crimein banking
b) Collecting bankersduties
c) Garnisee order
d) Lega measuresof recovery.

Q3) @ Explainrelationship between banker and
b) Explaintypesof cyber crimein Banking.

[5]
2000
Collection of cheques
Email spoofing
One time settlement of dues
Partnership firm & companies

[10]

customer. [8]

[7]

Q4) & Explain precautionsto be taken while doing payment of cheques. [8]

b) Explain modes creating charges.

Q000
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Total No. of Questions: 4]
P-1837

[6032]-619
T.Y. B.Com.
BANKING AND FINANCE - 111
366(b) : Banking Law and Practices in India
(2019 Pattern) (Semester - VI)
(TSt EUTR)
aes : 2> @ | [ wggor 7707 : 50
geAr: 1) g4 9y qisfaut dEvas .
2) ISl 37e YUl 70T GIieaTd.

g7 1) 1) fewmen Swm . (SR ure) [5]

) oTaITda WG THIUTA UTH S 3-HA R ... U @ S
HA) aERE q) W
®) WH g) o

i) ST FAT Uk FHIGUITTER B @l ........... TREA HE Iehdl
) e q) I YR
%) e g 3) Wert ¥

jii) et SeheT degTe TRATUT ot S S At e et .
) Taifera gAY q)  EI AR
%) gk YAeN ¥) SgHTR YW

V)  SRE ... UG AR SoM SR,

HA) UTHAT YATSI=N THH
)  YUNUTTRERRTN qa

F) UTEhISAT WA THAT TE0l
T) g fSe=n T H Ol

V) e el g o el 3R hl S TR ........... I Wt
&t Hed.
A) T q) &
&) W™ g) 3I4d
17/) ST SATHEA TATUTE ¢ T[-ael HIgad 3718,
H) WUE TR )  WESR TR
®) ITHS TR g) fefea =
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o7 2) fem fergn. (Foremd 9F)

geq 3) )

g 4) )

[6032]-619

[5]
H) 2000
q)  GAIGY WSt O
*®)  3-Ae-wgiE
T) Uk Rl Wakhe ST
3) uRier wd enfor o

[10]
e, ST QAT FIER [l ROt
T ket A
TR ST
YA HEAIR U
ek T UTEH AT TAEE T F. [8]
ek STET ST HEER I TehR T8 FH. [7]
UTERTEAT LATCITN THH 31GT A1 TATEETH Shicsell HioR T8 &, [ 8]
TR 0T HuaTe UGt WY & [7]
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Total No. of Questions : 4] SEAT No. :

P-1838

[Total No. of Pages : 4

[6032]-620
T.Y. B.Com

366(C) : BUSINESS LAW & PRACTICE - |11

(2019 Pattern) (CBCS) (Semester - VI)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto the right indicate full marks.

Q1) A) Fill in the blank with the most appropriate alternative (Any Five) :[5]

1) A final dividend is declared by the of a company at its
annual general meeting.
(Directors, Members, Creditors)

i1)  Dividend has to be paid within days from the date of declaration.
(30 days, 90 days, 21 days)

1i1) means attempt is being made to give different form by
reshaping the accounts.
(Reopening, Recasting, Revision)

iv) The first auditor is appointed by Comptroller and Auditor General
of India (C&AQG) in case of Company.
(Government, Public, Private)

v)  Minimum number of directors in the case of a private company is
____ directors.
(2,3,5)

vi) The _____ is the heart and soul of the company / firm.
(Creditors, Shareholders, Board of directors)

B) Match the following. [5]

Column A Column B

1)  To protect investors’ interests|a)  Board of Directors
and promote awareness

i1)  Right to reopen the financial|b) Full - Time working Director
statements

ii1)) Appointment of Auditor c) Section 169

1v) Executive Director d) Investor Education and

Protection Fund
v) Removal of Director e) Central Government

PT.O.




Q2) Write a short note (Any two) : [10]

a)
b)

C)
d)

03) a)

b)

04) a)
b)

Investor Education and Protection Fund
Re-opening of accounts on court’s or Tribunal’s orders.
Duties of Auditor

Qualification of Directors

What is Dividend? Explain the provisions related to declaration &
payment of dividend. [8]

Explain the provisions regarding Constitution of National Financial
Reporting Authority. [7]

Explain the provisions related to removal and resignation of auditor.[8]

What is Director? Explain the provisions related to disqualifications
for appointment of Director? [7]

lClodoe
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Total No. of Questions : 4]

P-1838

[6032]-620
T.Y. B.Com

366(C) : BUSINESS LAW & PRACTICE - I
(2019 Pattern) (CBCYS) (Semester - VI)

ae : 2> @ |
L LU

(ST EUTR)
[ wor o1 2 50

1) @d gy sifAart smea.
2) SwEfiere fqech @ar gut or gvifaard.

gy7 1) 1) fwmn @nm . (STl are) [5]

1)

Vi)
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(TR, AYTEE, SRUTER)
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(30 fem, 90 feam, 21 )
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R TUH SETIerehre HE<ht hell WTd.

(T, TTESIteR, EIeTt)

WS SHO-eAT Stadia SRHH FemeTehel 9T .......... ... TTcTeh 3144,
(2, 3,5)

............ T U /EEA TGT (0T SATHT AR,

(RUTeR!, WIRTERER, T<TeTeh HESS)

EIE LS ERIS G [5]

TR A ThHET

USRI f&aTal W | 31) | Hes
THOT 3T ATEehel STEao!

e foeror v g F) YUl A THRERA HT®
ITSUIT HIUHRR

[SECIENEE ST RER R &) ™ 169

FHEHN TETeTeh 8) TAaveheR fUteror srifur wRetor el

TATARTE! RIS Z) <hg WER

3 P.T.O.




gyt 2) g fem forgt. (shoredt gF) [10]

H)

g 4) AH)
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Taauehar feror safor exeron feh

AT fohal =AETTERuTTEAT SISIMHR @t Jra1 39St
RIS

TR aTel

TTHII WU T ? ATHIY TS 30T 37eT FRuaTaTaaean aige! T . [8]
L ST HFATA AT FUTAT TEAHGHTAA ISl T . [7]

JhETRTE FERTCTUZ! SHYUT 3ATTUT TSTHTHT 20T TEaefiean aege o8 4. [8]
AT FEUTS il ? TOTeTehTeAl (HgRhIATS! STuTsdaTaaet aidal T . [7]
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Total No. of Questions : 4] SEAT No. :

P-1839 [Total No. of Pages : 4

[6032]-621

T.Y. B.Com.
366 - (D) : CO-OPERATION AND RURAL DEVELOPMENT - 111
(2019 Pattern) (CBCYS) (Semester - VI) (Special Paper - 111)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

QI) A) Fill in the blanks (Any Five) : [5]
I)  Financial Management is concerned with the efficient use of
a) sharecapita

b) current assets
C) animportant economic resource
d) profit
i)  Themain function of the financial managers are :
a Utilisation of funds b) Manpower planning
c) Profitplanning d) Market planning
i) The most important source of Co-operative finance are
a  Contribution of Government
b) Members and Investors
c) Borrowings & Loans
d) Revenue Receipts
IV)  The finance manager is accountable for
a Earning Capital Assets
b) Management of fund
c) Arrangement of financial resources
d) Proper Utilisation of funds
v) Co-operativeAuditisaexamination of financia transaction of
a Business concern b) Privateundertakings
c) Co-operative society d) Company
vi) The appointment of an Auditor is done by
a8 Centra Government
b) State Government
Cc) Registrar of Co-operative society
d) Board of Directors

PT.O.



B) Match the following pairs : [5]

™ B’
)  Financia Management ad Audit of Society
i)  Financia planning b) Appointed for Co-operative
Society Audit
i)  Capital and funds c) Management of Co-operative
finance
Iv) Co-operativeAudit d) Planning of funds
v) Co-operative Auditor €)  Sources of finance
02) Write short notes (Any Two) : [10]

a  Sources of Co-operative finance.

b) Characteristicsof financia planning.

c) Needof financial control.

d) Provisionsof Co-operative law relating to audit.

03) @ Distinguish between corporate finance and Co-operativefinance.  [8]
b) Statetheestimation of financial Requirement. [7]

04) @ Statethepolicy of operating expenditure in Co-operative society.  [8]
b) State the powers and duties of Co-operative auditor. [7]

VVVV
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Total No. of Questions : 4]
P-1839
[6032]-621
T.Y. B.Com.
366 - (D) : CO-OPERATION AND RURAL DEVELOPMENT - 111
(2019 Pattern) (CBCS) (Semester - VI) (Special Paper - 111)

(WSt TUTaR)
des : 25 ard | [ Tegor 7707 : 50
ger: 1) §d 9GSt Sy ST,
2) SoidichgleT 3k TATe QUi IO Foifaard.

gyg 1) 1) fwmn @mnm s, (Sl are) [5]
) fafta seremm ... T HIHLTHAYT STOeH el e
31) HNT HISaA q)  TE] HTEH™T

&) Ugearen A S g) W
i) fafa sgeremuewm T T T 3T,
A) fefien am )  ATEES HENE
*®) T FEeE g) =R A
jii) dgwRme ............ 71 v faf wa e,
) THN ANEH ) WS VT [AAUhRER
®) oIl R g) HEHe U
iv) ot sgerem ... 1 ST St

V) R SRt U ................. = fafta sragr wie g
)  HIEE GEA 9) Werl 3Em
F) TERN A ) wuA

Vi)  sTeheteRTel RN @ ... 2R el I,
A) g TR q)  TH THR

3 P.T.O.



) el TS . [3]

- -
) fafa =ereamm HA) GHEED ke
i) ot s 9) UgHhN TR HAReUTES
Secal
jii)  wrETe snfor Hieh ®) FEHNAA o HTEATTH
V) TEwRl TRETaieToT g) Fefa Feem
V) TEhNl 3heTh 3) fatmena
gy 2)  eligwm foun forgn. (i@ 2) [10]

A) FEHAA &= &=

) fata s 3k

*) fafra Freom=h =

g) TEHN HESATAA HeheluTers=reh aidet

gy 3) ) koAl fom onfur wEeert o amferer wees |, [8]

7) fafma sTavaRdTER SETSdsE | [7]

g9 4) ) UgHN SRAME A (FaTeult) WeifaEes o T, [8]

F) EEHN 3heThRTe SATEHR U1 s |, [7]
VVVV
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[6032]-622
T.Y.B.Com.
366(e) : COST & WORKSACCOUNTING- 111
Techniquesof Cost Accounting and Cost Audit

(2019 Pattern) (Semester - V1) (CBCS)
Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) A) Fill in theblanks (any five) [9]

a may be defined as the difference between Standard Cost
and Actual Cost

1) Variance
i)  Budgetary Control
i)  Margina Costing
b) Target Costing = Selling Price - ( )

) Cost
i) ProfitMargin
i) Revenue
c) Which of the following method of pricing is popular in wholesale
and retail trades
I)  TargetPricing
i)  Full Cost Pricing
i) Skimming

PT.O.



d) Standard deal swith the principles and methods of determining
the Material Cost.

) CAS®6
i) CAS7
i) CASS5

e)  Which of the following section of companies Act 2013 deals with
maintenance of costing records

1)  Section 140
i)  Section 138
i)  Section 148
f)  Cost Auditor is appointed for year
) Two
i)  Three
i)  One
B) Match the pairs [5]
Group A Group B
A | XBRL I AlwaysUnfavourable
B | Verificationof the Il | Target Cost
correctness of cost accounts.
C | Standard established for 1l | ExtensibleBusiness
limited period Reporting Language
D | Idletimevariance IV | Current Standard
E | A product cost estimate V | Cost Audit

derived from acompetitive

market price

[6032]-622 2



Q2) Write Short Notes (any two):
ad Cost Auditors Rights and Duties

b)
c)
d)

Q3) g

b)

CAS6

Importance of Target Costing

Cost Management for I T sector

From thefollowing information you arerequireto Calcul ate
a Materia Cost variance,
b) Materia PriceVariance,
c) Materia Quantity Variance

d) Veifyyour answer

[10]

[8]

Standard Actual
Materid | Qty Rate Amount | Qty Rate Amount
A 60 20 1200 | 75 22 1650
B 40 10 400 | 30 08 240
Total 100 1600 | 105 1890
Using thefollowing cost data, calculate [7]

), Labour Cost Variance
i)  Labour Rate Variance

i) Labour Efficiency

Iv) IdleTimeVariance

Standard Hours
Standard Rate per hour 1
Actual Rate

Actual Hours

1,600

2

.50
.00

1,500

(out of which hours not worked due to abnormality hours)

[6032]-622




Q4) @ Bingo Ltd. Bombay budgets for a production of 1,50,000 units with
variable cost of Rs. 14 p..u..and a fixed cost of Rs.2 p.u.(3,00,000 in
total) The company has decided to fix up itsturnover priceto get aprofit
25% on cost price. [8]

If a company has decided to reduce its selling price by 10% how does
the revised price affect the Profit/VVolume Ratio and Break-Even Point.

b) What do you mean by Cost Audit? Explain scope and objectives of Cost
Audit. [7]

[6032]-622 4



Total No. of Questions: 4] SEAT No. :
P-1841

Time: 2Hoursg|

[Total No. of Pages: 3
[6032]-623
T.Y.B.Com.
366(f) : BUSINESSSTATISTICS- 111

(2019 Pattern) (Semester - VI)
[Max. Marks: 50

I nstructions to the candidates:

1)
2)
3)

Ql) a

b)

All gquestions are compulsory.
Figures to the right indicate full marks.
Use of statistical tables and calculator is allowed.

Attempt Fill intheblanksany five of thefollowing : [9]

)  We can maximize profit function by using computation
of function.

i)  If C(X) =3x*+ 23— 7x +22 isthe manufacturer’stotal cost equation
then variable cost is

i)  PERT is model.

Iv) FCFSiscaled discipline.

v) Long form of PERT is

vi) If the total float is zero then corresponding activity is called as

activity.

State whether each of the statement given below istrue or false: [9]

1)
i)
ii)

Random numbers are used in simulation theory.
CPM isnon-deterministic model.

In queuing theory, we always assume that, average no. of arrivalsis
less than average no. of departures.

If C(x) = 31x* + 42¢% — 71x + 12 is the manufacturer’s total cost
eguation then 12 is called variable cost.

Collectionsof critical activitiesiscalled critical path

PT.O.



Q2) Attempt any two of the following: [10]

a)

b)

d)

Q3) g

Explainthefollowingterms:

) Node
i)  Revenuefunction.
i) Simulation

Iv) Distributionof arrivals
v)  Servicechannel

If C(X) = 2x* — x3 + 7x—12 is the manufacturer’stotal cost equation, find
the:

) averagecost

i)  fixed cost

i) variablecost

IvV) marginal cost
Explainthefollowingterms:

)  Pessimistictimein PERT.
i)  Cdling population

i) Trafficintensity

Iv)  Market Equilibrium,

v) Optimistictimein PERT.

Explainthe maximafunction with anillustration.

The following table gives the activities in a project and other relevant
information : [8]

Activity (12 | 1-3| 25 (24 | 34| 45| 46 | 56 | 67

Duration | 5 9 14 4 3 10 | 12 6 10

Find the earliest start, earliest finish, latest start, latest finish, total float,
freefloat and independent float for each activity. Also find critical path.

[6032]-623 2



b)

Q4) &)

b)

Following isthe probability distribution of daily production of items.[7]

Production 0 5 10 15 20 25
Probability of 004 | 022 | 016 | 042 | 0.10 | 0.06
Production

Using random numbers given below estimate production for next 10 days:
35, 52, 90, 13, 23, 73, 34, 57, 35, 83. Also find average daily production.

Given below istheinformation about aproject regarding different activities.
All timeestimatesarein days.

[8]

Activity | 12 | 15 | 23 | 24 [ 34 | 45 | 56
t: 2 3 6 5 5 3 1
t : 5 12 9 14 8 6 4
t: 8 2 | 2 | 7 | n 9 7

i)  Determine expected time estimate and variance for each activity.

i)  Giventhetotal estimated completion time as 32 days with variance
5 days.

What isthe probability that the project will be completed within 29 days?

A self service employees one cashier at its counter. Ten customersarrive
on an average per hour while the cashier can serve 30 customers per

hour. Find:
1)  Probability that cashierisidle.

i)  Averagetime acustomer waits before being served.

i)  Average number of customersin queue.

IV)  Average number of customersin the system.

[7]

v)  Probability that a customer hasto wait before he gets service.

[6032]-623
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P-1842 [Total No. of Pages: 4
[6032]-624

T.Y. B.Com.
366 g : BUSINESS ENTREPRENEURSHIP - |11
(2019 Pattern) (Semester - V1) (Special Paper-111)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) A) Fill in the blanks (any 5) : [9]
), is the foundation of effective teamwork.
a Communication b) Planning
c) Control
1)) allows the entrepreneur to make better, more informed
decisions.
a Ligtening b) Problem solving
c) Ciritica thinking
iii) stress reaction occurs when symptoms develop due to
aparticularly stressful event.
a Acute b) Chronic
Cc) Redistic
IV) An entrepreneur’s primary motivation for starting a business
IS
a tomakemoney b) to be famous
C) to beindependent
V) IS the correct depiction of digital marketing.
a E-mal Marketing b) Socia MediaMarketing
c) All of theabove
Vi) Isused in digital marketing.
a) Electronicdevices b) Internet

c) All of theabove
PT.O.



B) Match the following : [9]

Group A Group B
)  Corporatetraining ad Increased responsibility
i)  Cross function teams b) Formal training
i)  Problem solving c) Typeof team
Iv)  Job enrichment d) Digital marketing
V)  Onlinemarketing e Karl Marx
Q2) Writeshort note (Attempt any two) : [10]
ad Digita Team.

b) Causesof conflict in entrepreneurship.
c) Management by Objectives.
d) Futurescopefor digital marketing.

Q3) @ WhatisTeam? Explain how to create high performance team. [8]
b) Explaintypesof conflict management in entrepreneurship. [7]

Q4) @ What is Motivation? Explain employee involvement programme in

entrepreneurship. [8]
b) Explainthefour P'sof digital marketing. [7]

QOO0
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Total No. of Questions: 4]
P-1842
[6032]-624
T.Y. B.Com.
366 g : BUSINESS ENTREPRENEURSHIP - |11
(2019 Pattern) (Semester - V1) (Special Paper-111)
(TSt ®UTR)
aes : 2> @ | [ Tggor 707 : 50
gaar: 1) | 999 QIS SiHaTd 3.
2) IwihEieT ik TR quf U7 guiteT.
3) HaWlaIdt STt TvateRT UgTe.

gg7 1) ) feermen Swn L (RIOEE U [5]
) 1 IS ek Ut 3ATe.
) EuEuT 9) FaEem
%) FEem
1) IS 2 SEITRTET TSIk TRTEA, ATk WITEguT HuTe Svame 1wt
.
H) O q)  HEE e
&) TR foem
ii)  reg1 wEmEn fafvte qumayut T e faeRitE g aegl .
quTE fdfehan Sgad.
H) A= q) SR
®) AT
V) o™ GE HuamTet STTehTEl TR SO ............ Rl
) U9 FHETHETE q) ufg gt
®) WA =
V) e, 2 fefree o o e e,
A) 3-He fmom q) wmITeR wieEw feque
*) Tl ad
V) e, fefves famurmes amRa s,
) Tl SUH 9) Tewe
®) ol ud

3 P.T.O.



) S A [S]

e A e T
)  wiuiiz ufvrero d) WATEEN dEe
i) e = ww F)  3idnies wiviern
iii) e EERw %) WO TR
iV) Rl Hosan ) fefea ftomm
V)  3iierEA feum 3) It U
g7 2) fem form. (roremd gm) [10]
R) fefes a.
q) USRIl AT SHROL.
F) SEEHER AU
g) fFefea ek viisarde ae.
g7 3) ) UG RN HA AR ? 3T HEIHA T FH GIR FATA d WL F. [
F) SERAAIE H9Y STaEATIAT ThR I8 . [7]

goq 4) 1) SATIHRUN UK I ? SRAAS) HUTN TgHE FREH WE . [ 8]
7) e fuvAr 4 9's we w0 [7]

Q000
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Total No. of Questions: 4] SEAT No. :

P-1843

[Total No. of Pages: 4
[6032]-625

T.Y. B.Com.

366 H : MARKETING MANAGEMENT - |1l

(2019 Pattern) (CBCS) (Semester - VI)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

All questions are compulsory.

Figures to the right indicate full marks.

1)
2)

Ql) A)

Fill in the blanks (any 5) : [5]
)  Inservicemarketing Hotel, Cinema- Hall, Bank - Insurancetravel,
gym etc are part of elements.
a Product oriented b) Person oriented
c) Quality oriented d) Industry group

i

Vi)

As per 7 isthe process of which transfer raw material into finished
good is caled as
a Product b) Price
c) Pace d) Directsupply

ison elective mediain modern marketing.
a AdvertisingonTelevision
b) Directsdling
c) Socia mediamarketing
d) RadioAdvertising

objective of marketing control is to observe progress
as per decided planning.

a Primary b) Secondary

c) Find d) Interium

From persons can understand and get particular message
and it also provides same message to society.

a Dedgn b) Artwork

c) Tread mark d) Printmedia

Analytical study of marketing strategy isdonein :

a MarketingAudit b) Marketing planning

c) Marketing control d) Marketingorganisation

PT.O.



B) Match the following :

[S]

Column A Column B
)  Kirtan & sermon a Techniquesof marketing
control
i) Sowc & varianceAnaysis | b) Principlesof design
i) Facebook & whats-up c) Quality oriented components
IV)  Rythm, music & colour d) Historical socia media
Combination
V) Legal & medical services e) Socia media
Q2) Writea short notes (any 2 out of 4) : [10]
d Featuresof socia mediamarketing.
b) Characteristicsof Television Advertisement.
c) Objectivesof marketing Audit.
d) Product oriented component'sin service marketing.
Q3) @ Explainthesocia mediamarketingin detail. [8]
b) Explaintheprinciplesof designin detail. [7]
Q4) @ Explainthefeaturesof service marketing. [8]
b) Definemarketing Audit & Explainit'sobjectives. [7]
Q0O0Q0O
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366 H

[6032]-625
T.Y. B.Com.

: MARKETING MANAGEMENT - |1l

(2019 Pattern) (CBCYS) (Semester - VI)

aes : 2% a9 |
1) §d gy7 QIS0 savas AT,

2)  ITeltengicr ieh gyTe Ul 0T F9tterrd.
3) HulaISt e 3ult TyAUlAHT UgT.

L LU

(A EUTR)
[ Tt 7o : 50

gy 1)

)  Termn SR WL (U a) [9]

)

Vi)

TR ..o T YCHMHE Hell STl

H)  THENTE ) AHHS

®)  TUTEITISEE T) IR

7pS a1 FHEIATHR HeAT WA Yol HIATd U e STRusd
forshie SucTsy SHYUaT=It Uisha ............. 1 geHT .

AHN) T ) forma

®) oo T) s guan

Yok FAUUHTIS Taia THTE WEa™ U ............. .

)  FEAE ST q) e Tk

®) WIS Aegw feaue g) &S0 St

BT AISTHSHION ST g ST o T, 3meR @18t 3aut § fauum fFHesmm

.......... I IR,
HA) wAHR ) @
®) I g) ofm

.............. R SIRHHAT AT ° AT 23 AT TR Havl GHTSTIdd
uigrafen sifie smEa.

) SIH q)  HATRN

F) URRRE g) oo A

ferum SIEtEHn fRvewuTeeE S AL HeAT AT
H) Foum ke q) feuum FEsE

%) feoom s g) fouum weea
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F) e Jeea.

[5]

e A e T
) fewda sufor ga=m H) Touum Femom=h &
i) water snfur gEy favemo q) 3R foweres a
i) U anfuT ieds™ F) TUTEE /e fovaes geH
iV) o, Tfta, TR ) et gt arem
V)  wEQiR e Jeueh wa 3) AT HIgEH
g7 2) fem form. (roremd gm) [10]
)  feouETen T TreemE S
q)  GREVHERI! SfRdrel SfoTes.
%) foroum sihemmh Sede
g) wa fouuETde g uew
goq 3) 1) fouum farveres wmfer mem afeer we w0 [8]
F) 3 fawe (3NEET) de Afoer T8 H4. [7]
g7 4) )  Han fauuEh Sfirs we . [8]
F) fouuE sicheror SANE W W AT TIE . [7]
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Total No. of Questions: 4] SEAT No. :

Total No. of P 4
P1844 [6032]-626 [Total No. of Pages

T.Y.B.Com.
366 (i) : AGRICULTURAL AND INDUSTRIAL ECONOMICSH I
(CBCS2019 Pattern) (Semester - VI) (Paper-I11)

Time: 2%2Hours) [Max. Marks: 50

Instructions to the candidates:
1) All questions are compulsory.
2) Figuresto theright side indicate full marks.

Q1) A) Fill inthe blanks (Attempt any 5 out of 6): [9]
)  Minimum wages act was passed in
(1967, 1978, 1991, 1948)
i)  TheNational green tribunal act waspassedin
(2010, 2012, 2016, 2019)
i) _ isthemagor factor which indicates regional imbalance

(Net state domestic product, per capita Net state domestic product,
trendsininvestment, Infrastrural disparities)

Iv) Agricultural cost concepts are developed by
(SEBI, IRDA, PFRDA, CACP)
V) was the major objective of Indiesfirst five year plan.

(Industrial development, export promotion, woman empowerment,
Agricultural development)

vi) MSP stands for
a Margional support price
b) Maximum support price
c) Minimum support price
d) Multilevel support price
PT.O.



B)

Match thefollowing:

) MSP a)
i) Centralizationof Industries  b)
i) Agricultural Productivity C)
Iv)  Agricultural policies d)

v) Payment of wages act 2)

Q2) Write ashort note (Any 2 out of 4)

a)
b)
c)
d)

Q3) a)
b)

Q4) @)
b)

Need of agricultural policies
Regional Industrial Imbalance
Industrial dispute act 1947

Procurement price

Support price
Regional Imbalance
Ministry of agriculture
1936

Per Aero Production

Explain the problemsof Regional Industrial imbalancein India.

Explainthe need of agricultural pricepolicy.

[S]

[10]

[8]
[7]

Write anote on Air (Prevention and control of pollution) act -1981. [8]

Define Regional Imbalance. Explain the need for balanced Regional

Industrial devel opment

é 6 ¢

[6032]-626 2
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Total No. of Questions: 4]

P1844 [6032]-626
T.Y.B.Com.
366 (i) : AGRICULTURAL AND INDUSTRIAL ECONOMICSH I
(CBCS2019 Pattern) (Semester - VI) (Paper-I11)

(TS |UTR)

S 25| [ wsgut 7701 : 50
goai:- 1) 69 UY Hisful Savas Sied.

2) STErREA 37k WIS Ui IUT gifaEa.

3 TEHIHS! G5 SUSH UIUTIh! UgTEl.

¥.1) 1) fewman Snm @, (ST 5) [5]
) froRaEwmEeEr............ LA THA FHAUATT ST
(1967, 1978, 1991, 1948)
i) T g AT AT ... TS THA BT HTEA
(2010, 2012, 2016, 2019)
1) TR T T " TR STEWdiern (Hayh oig
(e Tt SeaTed, SIS fees Teaiania SeTed, TAEURhIer Tae,
TN EEHT forsaT)
V)  FEE HRETT .o Ttk ferenfta shean stRa
(SEBI, IRDA, PFRDA, CACP)
V)  YRATHT 9UW UUETiyeh A ... % @ 3 g
(st foremmar, faria wiceTeA, wigen deciieon, FHt o)
Vi) e, 2 MSP = quien 3R,

31) Margiona support price
&)  Maximum support price
%) Minimum support price

g) Multileve support price



q) A SIS A

) MSP )  Inuw fhma

i) SgEwT g &)  WeREh rEwdre
i) N ST ®)  FH T

iv) ot s T) 1936

V) S 3 3)  wfdusR Seane

¥.2) few fergr. (ot 5)
)  FH LROTE AT
F) RN S ST
%)  sitEifes wad wEE - 1947
g) W R

¥.3) 3t) WRATie Tefvreh sitesnfires sremdieiea Tue g .

q) ot fehwa YRUTIR YRl W .

T.4)31) gon (wguun faeron & frawm) swar 1981 amer afaem fea forar.

[5]

[10]

[8]
[7]

[8]

q) UGN ST S g1, AHAIA TR SIgHIRIeh okl sTageehal

WE k.
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P1845 [6032]-627 [Total No. of Pages: 4

T.Y.B.Com.
366 (J) : DEFENCE BUDGETING, FINANCE &
MANAGEMENT (Special Paper -111)
(2019 Pattern) (Semester - VI)

Time: 2%2Hours) [Max. Marks: 70
Instructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) Attempt any fiveof thefollowing [5%2=10]
a Definenew trendsin defence.
b) Definenatural resources.
c) Definedefenceexpenditure.
d) Define defence forces.
e) Define Defence Research Laboratory (DRL).

f)  What are capability modernisation of defence?

Q2) Attempt any four of thefollowing [4%5=20]
a  Unconventiona and asymmetric warfare
b) Military leadership
c) Defenceitemsdesigned
d) Indigenisation of armed forces

e) Challengesindefence

PT.O.



Q3) Attempt any four of thefollowing. [4%5=20]
a Defenceisa“topmost priority” explainit.
b) Explainlinkagesbetween planning and budget.
c) Explaintheroleof Directorate General of Quality Assurance (DGQA).
d) Explainanalysisof defence expenditure since 1998.

e) Explainforeignaid asacontributory element of war potential.

Q4) Attempt any two of thefollowing. [2x10=20]
a) Explainindetall Indian defence companies.
b) Explainindetail elementsof war potential.

c) Explainindetail theimpact of expenditure on Defenceforces.

[6032]-627 2
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T.Y.B.Com.
366 (J) : DEFENCE BUDGETING, FINANCE &
MANAGEMENT (Special Paper -111)
(2019 Pattern) (Semester - VI)

(TS |UTR)
S ; 2| [ wegut Tt - 70

goat:- 1) Hd 99 AHaE oTE.
2) VARSI 37k YUT IUT gIifadTd.

. 1) Wrefictieh! shivrdg! ure I drea. [5x2=10]
HA) TV T TaTg SaREEn &,
T) Sfiie WeR Hus Swe w1
) TR G A L
T) TG e L
T)  EREUT HYNYH TERT9eT (SI3TRUSA) SAREAT .
W) RO &THaT SRR U T ?

¥.2) few forr. (Fomd =mw) [4%x5=20]
)  SHURUTNGR SUT STEHT 9g
F) TSRl Had
&)  ERRIUT T A
g) G W RT
3)  EREMUT STTEH



. 3) WreiicTiehl hIvTagl oI 991 T [4x5=20]
HA) TIYUT “HET WA 3R § TE .
q)  SAUdHHeY ST e Aol vEY TWE %
®) TUTEE gHt HErEETeTerETen givent @ w0 (DGQA).
g) 1998 et TR Tt forveryur .
3) g MAHFAAE UEhiT HEehE Ueeh T .

4. 4) wreheridh SR aF 9% S, [2x10=20]
) VR EREIUT HOTS AUYIICTaR Sui .
q)  Fg MAHHA Heeh TR T .
F) WA ERLUIEATRIE TRET0T T UROTH S 8 .
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T.Y.B.Com.
INSURANCE, TRANSPORT AND TOURISM - 111
366K : Tourism

(2019 Pattern) (Semester - V1) (Paper-111)

Time: 2%2Hours) [Max. Marks: 50

I nstructions to the candidates:
1) All questions are compulsory.
2) Figuresto theright side indicate full marks.

Q1) A) Fill intheblanks (Attempt any 5 out of 7): [9]
1)  Themap should aso have at least a pointing indicator.
a West
b) South
c) North

i)  Thefirst Travel Agency of the world was established by Thomas
Cook in

a England
b) India
c) Japan

i) A bonafide certificate isissued to the people who travel to and

d Nepa and China
b) Nepa and Bhutan
c) Nepa and Bangladesh

V) means a pre-arrangement, prepaid trip that combines two or
more travel components like airfare, airport transfer, accommoda-
tion, and other services.

a tour arrangement
b) tour development
c) tour package
PT.O.



V)

vi) Theprocess of selling of aproduct through publicity iscalled
a Directmall
b) Indirect mail
c) Promotionmail
vii) Thetext of Indian Passportisprintedin _ Language
a OnlyinHindi
b) OnlyinEnglish
c) Both, Hindi and English
B) Matchthefollowing: [9]
)  Circleitinerary a Endsindifferent places
i)  Open-jaw itinerary b) Brings travellers back to their
starting point
i)  Hub-and-spokeitinerary c) Pay for their own medls
Iv)  Accommodations d) Baseatahotd inonecity
V) Meds €) Parking for the motor coach
[6032]-628 2

A small, local restaurant has decided to advertise its elegant
atmosphere and qualified wait staff. Thisapproach isan exampl e of

marketing.
a service
b) product

c) development



Q2) Write ashort notes (Any 2 out of 4)

a)
b)
c)
d)

Q3) a)
b)

Q4) &)
b)

Tour package design and Selection Process
Distribution system
Post-tour activities

Pre-departure meeting

Describe components of tour package

Explain Tourist buying behaviour and the role of tour operators

State the significance of Tour manager briefing

Explainindetail Arrival procedures

[6032]-628 3
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366(l) : COMPUTER PROGRAMMINGANDAPPLICATION
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Time: 2%2Hours) [Max. Marks: 50
I nstructions to the candidates:

1) All questins are compulsory.

2) Figuresto theright indicate full marks.

Q1) A) FillintheBlanks. [9]

a)

b)

d)

engineering is an engineering based approach to software
development.

1)  Mechanica i) traditional
i) Software Iv) Hardware

IS a supervised learning algorithm which is used for both

classification and regression

) DFD i) ERD
i) Decisiontree Iv) DecisionTable

Is widely used technology because it is compulsory to

test each and every softare before deployment

1)  Softwaretesting i) Debugging
i) Unit Iv) Design

refers to the process of ensuring the accuracy and quality

of data.

)  Verification i) Datavaidation
i) Decisontable iv) Testing

Coupling refersto the degree of interdependence between
)  software modules
i) data
i) information
iv) validation
PT.O.



B) Machthefollowing:

a)
b)
c)
d)

©)

High cohesion 1)

ERD i)
DFD i)
Unit testing V)
Dataverfication V)

[5]
Each software unit performs as expected
DataFlow Diagram
Entity Relationship Diagram
Checking data for accuracy

Elementsareclosely related

Q2) Short Notes (Any 2 out of 4) [10]
a Black Box Testing
b) Decision Tree and Decision Table
c) ExplainCohesion
d) ScreenLayoutdesigning
Q3) @ Explanindetail SoftwareAnalysisand Design. [8]
b) What isDataDictionary? Explainthe advantages of DataDictionary.[7]
Q4) @) Explain the concept of Software Testing and itstypesin detalil. [8]
b) What isvalidation of data? Why it isuseful. [7]
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Time: 2%2Hours]
Instructions to the candidates :
1) All questions are compulsory.

[Max. Marks: 50

2)  Figuresto theright indicate full marks.

Q1) a) Fillintheblanks:
1) Smart Homeis an example of
a) Artificid Intelligence
c) loT
2 ARmeans
a) Artificid Redlity
c) Augmented Redlity

3) Is an example of cloud.

a GoogleDrive
c) DVD
4)  isanapplication of Al.
a) Expert System
c) Software System

[5]

b) Deeplearning
d) Augmented Redlity

b) Augmented Report
d) Artificial Report

b) Hard Disk
d) http

b) Management Information System

d) Noneof these

5 Famous example of AR technology is

a GoogleLens

c) GoogleDrive

b) Google Map
d) Gmal

P.T.O



b) State whether the following statements are True or False [9]

a Javaisthe common language used for Al.

b) HUD isanexampleof loT

c) Instead of purchasing hardware outright, users pay for laaS on
demand.

d) Virtua Reality can be used in Sport sector.

e) Soft computing isacomputing technique in which applications are
accessed by common internet protocols and networking standards.

Q2) Answer the following (any 4): [20]

a) Explaintheadvantagesof Artificial intelligence.

b) Differentiate between |aaSand PaaS.

c) Explainany five advantagesof |oT.

d) Writeanoteon Virtual Redlity.

e) Explain the advantages of cloud computing.

Q3) Answer the following (any 2): [20]
a) Explainapplicationsof Artificial Intelligencein detail.

b) What is Cloud computing? Explain disadvantages of cloud computing.

c) Explainapplicationsof AR.

[6032]-630
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365 B : SALES MANAGEMENT (Vocational)
Advertising, Sales Promotion & Sales Management-l (Paper-V)

(2019 Pattern) (Semester - VI) (CBCYS)

Time: 2Hourg| [Max. Marks: 50
Instructions to the candidates :
1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) A) Fillintheblanks: [5]

)

ii)

ISNOT aquality of effective sales manager.
ad Product knowledge b) Podtiveattitude

c) Saesreport d) Good personality

L ooking after training isthe prime responsibility of

a CEO b) Cost Manager

c) SaesManager d) Marketingmanager
In SWOT anaysis ‘O’ stands for

a Once b) Opportunity

c) One d) Odd

It is process of connecting existing and future customers.
ad Branding b) Packaging

c) CRM d CPM

isthe performance expectation that salesman must achieve
during giventime.

a SdesBudget b) SaesQuota
c) Saesreport d) Sdesmanua

P.T.O.



B) Matchthepairs: [9]

a CRM 1) Anaysisof saes
b) Initiative 2) Setof strategies
c) SaesPanning 3) Geographical area
d) SdesTerritory 4) Quality of salesmanager
e Saesaudit 5) Improvesseller-customer
relationship
Q2) Write short noteon (any 2) : [10]
a  Onlinesalespromotion
b) SalesAudit

c) Marketingascareer

Q3) Answer thefollowing (any 4) : [20]
a CRM aneffectivetool of marketing
b) CSR need of an hour
c) SalesQuotaand Salesterritory
d) SaesTeritory
€) Importance of Physical distribution of Goods
f)  Need of Warehousing

Q4) Answer thefollowing (any 1) : [10]

a) Explainindetall functionsand responsibilities of sales manager.
b) Stateand explainrequired qualities of sales manager.

Q000
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TAX PROCEDURE & PRACTICES-

365C - VOC : Customsduty and Foreign Trade Policy

Time: 2%2Hoursg| [Max. Marks: 50
I nstructions to the candidates:
1) All questions are compulsory.
2) Figuresto theright side indicate full marks.
Q1) A) Choose the correct answer. (Any five) [9]
ad The effective rate of duty shall be on baggage.
) 38.5% i)  45%
i) 70% Iv) 35%
b) Timelimittofilememorandum of cross- objectionsbefore Tribuna
IS
) 80 days i) 45 days
i) 90 days Iv) 180 days
C) Is the rebate of excise duty and customs duty paid
on inputs used in exported final products under section 75 of
Customs Act.
)  Discount i)  Ad-valorum duty
i)  Market Price Iv) Duty drawback
d) Nointerestispayable, if warehousing goods stored lessthan
days.
) 60 days i) 80 days
i) 90 days Iv) 100 days
e) What isthetimelimit for re-exportation of goods as such u/s 747?
) 2years i) 3years
i) 4 years Iv) 5years
f)  Period of limitation for claiming customs duty refund is

(2019 Pattern) (CBCS) (Semester - V1)

1) 6 months from the date of import/ export

i) 16 months from the date of payment of duty and interest
i)  One year from the date of import/ export

IV) One year from the date of payment of duty and interest

PT.O.



B) Statewhether thefollowing statement is True or False [9]

a) Recovery of tax from buyersis not an essential condition for levy
of indirect taxes.

b) Drawback alowed on re-export of wearing apparel without use.

c) Incaseof imports other than imports by EOU the imported goods
can be kept in Customs bonded warehouse for 120 days without
paying any interest.

d) Genera Free Allowance (GFA) under Customs Act is allowed on
unaccompanied baggage.

€) Laptop computer brought as baggage by person above 18 years of
ageisfully exempt from customs duty.

Q2) Write short notes. (any two) [10]
ad Bailableoffences
b) Scope of Foreign Trade Policy
c) Duty Drawback
d) Refund Processing
Q3) Answer thefollowing questions. (any four) [20]
a What are the classes of officers?
b) What isawarehousing station?
c) What arethe features of Foreign Trade policy?
d) What arethe exemptionsto SEZ?
€) What are the provisions regarding confiscation of improperly imported
goods?
f)  What arethe basic requirementsfor claiming duty drawback?
Q4) Answer any one of the following questions. [10]
a What are the provisions relating to import of goods under the Foreign
Trade policy?
b) What are the provisions in respect of appointment of customs ports,

airports etc?

¥ %k %k

[6032]-632 2



	6032-601 P-1819
	6032-603 P-1821
	6032-604 P-1822
	6032-605 (P-1823)
	6032-606 (P-1824)
	6032-607 (P-1825)
	6032-608 P-1826
	6032-609 P-1827
	6032-610 P-1828
	6032-611 (P-1829)
	6032-612 P-1830
	6032-613 P-1831
	6032-614 (P-1832)
	6032-615 P-1833
	6032-616 P-1834
	6032-617 P-1835
	6032-618 (P-1836)
	6032-619 (P-1837)
	6032-620 P-1838
	6032-621 (P-1839)
	6032-622 (P-1840)
	6032-623 (P-1841)
	6032-624 (P-1842)
	6032-625 (P-1843)
	6032-626 (P-1844)
	6032-627 (P-1845)
	6032-628 (P-1846)
	6032-629 (P-1847)
	6032-630 (P-1848)
	6032-631 (P-1849)
	6032-632 ( P-3158)

